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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24 P—19–1—Science I
No. of Printed Pages — 7

¬˝flÁ‡Ê∑§Ê ¬⁄UËˇÊÊ, 2010

ÁflôÊÊŸ ó ¬˝Õ◊ ¬òÊ
( SCIENCE — First Paper )

‚◊ÿ — 3 14   ÉÊá≈U
¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÙ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
General Instructions for Examinees :

(1) ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question
paper compulsorily.

(2) ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

(3) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book
only.

(4) ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in Question Nos. 23 & 24.

(5) ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ „Ò¥U –
Question Nos. 2 to 5 are Very Short Answer type questions.

(6) Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§
‚ÊÕ ‚ÃÃ˜ Á‹π¥ –
For questions having more than one part carrying similar
marks, the answers of those parts are to be written together in
continuity.

 (7) ¬˝‡Ÿ ‚¢ÅÿÊ 1 ◊¥ 4 ÷Êª  ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ øÊ⁄U Áfl∑§À¬        
•, ’, ‚ •ÊÒ⁄U Œ ÁŒÿ ªÿ „Ò¥U – ‚„UË ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U ŒËÁ¡∞ —
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There are four parts ( i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D . Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê
∑˝§◊ÊˇÊ⁄U

Correct letter of
the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) Á»˝§•ÊÚŸ-113 ∑§Ê •áÊÈ ‚ÍòÊ „ÒU
(•) C 2  F 2 Cl 4  (’) C 2  FCl 5  

(‚) C 2  F 3 Cl 3  (Œ) C 2  F 4 Cl 2 

Molecular formula of Freon-113 is
(A) C 2  F 2 Cl 4  (B) C 2  FCl 5  

(C) C 2  F 3 Cl 3  (D) C 2  F 4 Cl 2 

1
2  

(ii) ∞∑§ ∑§êåÿÍ≈U⁄U ¬⁄U ∑§Ê◊ ∑§⁄UÃ „ÈU∞ ŒÈÁŸÿÊ ∑§ Á∑§‚Ë ÷Êª ◊¥ ÁSÕÃ ∑§êåÿÍ≈U⁄U ¬⁄U ∑§Ê◊ ∑§⁄UŸ
∑§Ë ‚ÈÁflœÊ ŒÃÊ „ÒU U
(•) ß¸-◊‹ (’) ≈U‹Ÿ≈U
(‚) ¬˝Ê≈UÊ∑§ÊÚ‹ (Œ) flÀ«¸U flÊß«U fl’ –
The facility of working on any computer in any part of the world
during working at one computer, is given by
(A) E-mail (B) Telnet

(C) Protocol (D) World wide web. 1
2  

(iii) å‹ÊS≈U⁄U •ÊÚ»§ ¬Á⁄U‚ ∑§Ê ‚ÍòÊ „ÒU
(•) CaSO 4  · 2H 2 O (’) CaSO 4  · H 2 O

(‚) CaSO 4  (Œ) CaSO 4  · 
1
2  H 2 O

Formula of Plaster of Paris is
(A) CaSO 4  . 2H 2 O (B) CaSO 4  . H 2 O

(C) CaSO 4  (D) CaSO 4  . 12  H 2 O 1
2  
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(iv) ÷Ê⁄UÃ ∑§Ê ¬„U‹Ê SflŒ‡ÊË ©U¬ª˝„U ¬˝ˇÊ¬áÊ ÿÊŸ „ÒU
(•) U∞‚0 ∞‹0 flË0 3 (’) U•Êÿ¸÷^ÔU
(‚) ∞¬‹ (Œ) ¬ÎâflË –
The first Indian satellite launch vehicle is

(A) SLV-3 (B) Aryabhatta

(C) Apple (D) Earth. 1
2  

2. ÷Ê÷Ê ∑§ ∑È§‡Ê‹ ÁŸŒ¸‡ÊŸ ◊¥ SÕÊÁ¬Ã ∑§Êß¸ ŒÊ ¬⁄U◊ÊáflËÿ Á⁄U∞Ä≈U⁄UÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ –
Write the names of any two atomic reactors founded in the expert
leadership of Bhabha. 1

2  
3. •Ê⁄U‹ÊÚŸ ’„ÈU‹∑§ ∑§ •flÿflË ÿÊÒÁª∑§ ∑§Ê ŸÊ◊ ŒËÁ¡∞ –

Name the constituent compound of the polymer orlon. 1
2  

4. INSAT ∑§Ê ¬Í⁄UÊ ŸÊ◊ ’ÃÊß∞ –
Write the full name of INSAT. 1

2  

5. ‚⁄U ‚Ë0 flË0 ⁄U◊Ÿ ∑§Ê ŸÊ’‹ ¬È⁄US∑§Ê⁄U mÊ⁄UÊ ÄÿÊ¥ ‚ê◊ÊÁŸÃ Á∑§ÿÊ ªÿÊ ÕÊ ?
Why was Sir C. V. Raman honoured by a Nobel prize ? 1

2  

6. •Á÷Á∑˝§ÿÊ mA + nB  m1  C + n1  D U ∑§ Á‹∞ ‚Êêÿ ÁSÕ⁄UÊ¢∑§ ∑§Ê √ÿ¢¡∑§ Á‹Áπ∞
∞fl◊˜ ß‚∑§Ê flª ÁSÕ⁄UÊ∑§Ê¥ ‚ ‚ê’ãœ ’ÃÊß∞ –
Write the expression for equilibrium constant of the reaction

mA + nB  m1  C + n1  D

and show its relationship with rate constants. 1
2  + 12  = 1

7. ∞À∑§Ÿ fl ∞À∑§ÊßŸ ∑§ ‚Ê◊Êãÿ ‚ÍòÊ Á‹Áπ∞ –
Write the general formulae of Alkane and Alkyne. 1

2  + 12  = 1

8. ∑§Ê¢ø ∑§Ê ∑˝§ÊÁãÃ∑§ ∑§ÊáÊ Á∑§ÃŸÊ „ÒU ? ¬ÍáÊ¸ ¬⁄UÊflÃ¸∑§ Á¬˝Ö◊ mÊ⁄UÊ ¬˝∑§Ê‡Ê Á∑§⁄UáÊÊ¥ ∑§Ê ¬⁄UÊflÃ¸Ÿ
Œ‡ÊÊ¸ß∞ –
What is the critical angle for glass ? Show the reflection of light rays
by totally reflecting prism. 1

2  + 12  = 1

9. ÷Í-ÁSÕ⁄U ©U¬ª˝„U Á∑§‚ ∑§„UÃ „Ò¥U ? ÷Ê⁄UÃ mÊ⁄UÊ Á‡ÊˇÊÊ ˇÊòÊ ◊¥ ÁflSÃÊ⁄U ∑§ Á‹∞ ‚◊Á¬¸Ã SflŒ‡ÊË
÷Í-ÁSÕ⁄U ©U¬ª˝„U ∑§Ê ŸÊ◊ Á‹Áπ∞ –
What is geostationary satellite ? Name the Indian geostationary
satellite which is working in the field of education extension in India.

1
2  + 12  = 1
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10. ø⁄U∑§ ∑§ •ŸÈ‚Ê⁄U ‡Ê⁄UË⁄U ◊¥ ⁄UÊª ©Uà¬ÛÊ „UÊŸ ∑§Ê ÄÿÊ ∑§Ê⁄UáÊ „ÒU ?
According to Charak, what is the cause of disease in body ? 1

11. ¬˝’‹ ∞fl¢ ŒÈ’¸‹ ÁfllÈÃ •¬ÉÊ≈K Á∑§‚ ∑§„UÃ „Ò¥U ? ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ – 
What are weak and strong electrolytes ? Give example.

1
2  + 12  + 12  = 1 12  

12. ©Uà∑˝§◊áÊËÿ •Á÷Á∑˝§ÿÊ ∑§ ÃËŸ ¬˝◊Èπ ‹ˇÊáÊ Á‹Áπ∞ –
Give three main characteristics of reversible reactions.

1
2  + 12  + 12  = 1 12  

13. ‡flÃ »§ÊS»§Ê⁄U‚ ‚ ‹Ê‹ ∞fl¢ ∑§Ê‹Ê »§ÊS»§Ê⁄U‚ ∑Ò§‚ ¬˝Ê# Á∑§ÿÊ ¡ÊÃÊ „ÒU ? ‡flÃ »§ÊS»§Ê⁄U‚ ∑§Ë
‚¢⁄UøŸÊ ’ŸÊß∞ – 
How are red and black phosphorus obtained from white phosphorus ?
Draw the structure of white phosphorus. 1

2  + 12  + 12  = 1 12  

14. ‚Ë0 ∞Ÿ0 ¡Ë0 ÃÕÊ ∞‹0 ¬Ë0 ¡Ë0 ∑§ ¬Í⁄U ŸÊ◊ Á‹Áπ∞ – ‚È⁄UˇÊÊ ∑§Ë ŒÎÁc≈U ‚ ∑§ÊÒŸ-‚Ë ªÒ‚
•Áœ∑§ ©U¬ÿÊªË „ÒU •ÊÒ⁄U ÄÿÊ¥ ?
Write the full names of C.N.G. and L.P.G. From safety point of view,
which gas is more useful and why ? 1

2  + 12  + 12  = 1 12  

15. ¬˝Ê∑Î§ÁÃ∑§ ⁄U’«∏U ∑§ ∞∑§‹∑§ ÿÊÒÁª∑§ ∑§Ê ŸÊ◊ ŒËÁ¡∞ – ß‚∑§Ë ªÈáÊflûÊÊ ∑Ò§‚ ’…∏UÊß¸ ¡ÊÃË „ÒU ?
‚◊¤ÊÊß∞ – 
Give the name of monomer of natural rubber. How is its efficiency
increased ? Explain. 1

2  + 1 = 1 12  

16. ÁfllÈÃ-øÈê’∑§Ëÿ ¬˝⁄UáÊ Á∑§‚ ∑§„UÃ „Ò¥ ? ¬˝àÿÊflÃË¸ œÊ⁄UÊ ¡ÁŸòÊ ∑§Ê Sflë¿U ŸÊ◊Ê¢Á∑§Ã ÁøòÊ
’ŸÊß∞ –
What is electromagnetic induction ? Draw a neat and labelled diagram
of A.C. generator. 1

2  + 1 = 1 12  

17. ‹Ê„U ∑§ ÃËŸ •ÊÚÄ‚Êß«U •ÿS∑§ Á‹Áπ∞ –
Write three oxide ores of iron. 1

2  + 12  + 12  = 1 
1
2  

18. ÁfllÈÃ-øÈê’∑§ ∑§Ë ÃËfl˝ÃÊ ∑§Ê ◊ÊŸ Á∑§Ÿ-Á∑§Ÿ ∑§Ê⁄U∑§Ê¥ ¬⁄U ÁŸ÷¸⁄U ∑§⁄UÃÊ „ÒU ?
ÁfllÈÃ-øÈê’∑§ ∑§ ©U¬ÿÊª ŒËÁ¡∞ –
On which factors does the intensity of electromagnet depend ? Give
the application of electromagnet. 1 + 12  = 1 

1
2  
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19. ÁŸêŸ ∑§ ©U¬ÿÊª Á‹Áπ∞ —
(i) ‚ÀçÿÍÁ⁄U∑§ •ê‹
(ii) Áfl⁄¢U¡∑§ øÍáÊ¸
(iii) „UÊß«˛UÊ¡Ÿ ¬⁄UÊÄ‚Êß«U – 
Give use of the following : 1

2  + 12  + 12  = 1 
1
2  

(i) Sulphuric acid

(ii) Bleaching powder

(iii) Hydrogen peroxide.

20. ß¸-’Ò¥Á∑¢§ª ÄÿÊ „ÒU ? ß‚∑§ ÄÿÊ ‹Ê÷ „Ò¥ ?
What is E-banking ? What are its advantages ? 1

2  + 1 = 1 
1
2  

21. (i) ◊À≈UË◊Ë≈U⁄U ∞∑§ ’„ÈU ©U¬ÿÊªË ÿãòÊ „ÒU – ÄÿÊ¥ ?
(ii) ⁄UÁ»˝§¡⁄U≈U⁄U ∑§Ë ∑§Êÿ¸¬˝áÊÊ‹Ë ∑§Ê ‚◊¤ÊÊß∞ ÃÕÊ ß‚ ©U¬ÿÊª ◊¥ ‹Ã ‚◊ÿ ’⁄UÃË ¡ÊŸ flÊ‹Ë

ÃËŸ ‚ÊflœÊÁŸÿÊ° ŒËÁ¡∞ –
(iii) ∞∑§ ◊∑§ÊŸ ◊¥ ÃËŸ ∑§◊⁄U „Ò¥U – ¬˝àÿ∑§ ∑§◊⁄U ◊¥ 100 flÊ≈U ∑§Ê ’À’ ÃÕÊ 40  flÊ≈U ∑§Ë

≈KÍ’‹Êß≈U ‹ªË „Ò – ¬˝àÿ∑§ ∑§◊⁄U ◊¥ ’À’ ∞∑§ ÉÊá≈U ÃÕÊ ≈KÍ’‹Êß≈U 4 ÉÊá≈U ¬˝ÁÃÁŒŸ
∑§Êÿ¸ ◊¥ •ÊÃË „ÒU –  30 ÁŒŸ ◊¥ ∑È§‹ πø¸ ÿÍÁŸ≈U ∑§Ê ◊ÊŸ ôÊÊÃ ∑§ËÁ¡∞ –

(i) Multimeter is a useful device. Why ?

(ii) Explain the working of refrigerator and give three precautions
during its use.

(iii) There are three rooms in a house. Each room has a 100 watt
bulb and a 40 watt tubelight. Everyday the bulb is used for one
hour and tubelight is used for 4 hours in each room. Calculate
total electric energy consumed in units in 30 days.

1 + 1 
1
2  + 1 

1
2  = 4

22. (i) ¬˝ÊÕÁ◊∑§ ∞fl¢ ÁmÃËÿ∑§ ‚‹ ◊¥ •ãÃ⁄U ’ÃÊß∞ –
(ii) ‚Ë‚Ê ‚¢øÊÿ∑§ ‚‹ ∑§Ê Sflë¿U ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –
(iii) ‚Ë‚Ê ‚¢øÊÿ∑§ ‚‹ ∑§Ê •ÊflÁ‡ÊÃ ∑§⁄UŸ ¬⁄U œŸÊª˝ ∞fl¢ ´§áÊÊª˝ ¬⁄U ÄÿÊ •Á÷Á∑˝§ÿÊ∞° „UÊÃË

„Ò¥U ?
(i) Write the difference between primary and secondary cells.

(ii) Draw neat and labelled diagram of lead accumulator cell.

(iii) On charging of lead accumulator cell give reactions at anode and
cathode. 1 

1
2  + 1 + 1 

1
2  = 4
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23. (i) ‚⁄U‹ ‚Íˇ◊Œ‡ÊË¸ ÿãòÊ ÄÿÊ „ÒU ? Á∑§⁄UáÊ ÁøòÊ ’ŸÊÃ „ÈU∞ ©U‚∑§Ë ∑§Êÿ¸ÁflÁœ ∑§Ê ‚◊¤ÊÊß∞ –
(ii) •flÃ‹ ‹ã‚ ‚ Á∑§‚ ¬˝∑§Ê⁄U ∑§Ê ¬˝ÁÃÁ’ê’ ’ŸÃÊ „ÒU, ¬˝∑§Ê‡Ê Á∑§⁄UáÊ ÁøòÊ ’ŸÊ∑§⁄U

‚◊¤ÊÊß∞ –
(iii) ‹ã‚ ∑§Ë »§Ê∑§‚ ŒÍ⁄UË ôÊÊÃ ∑§⁄UŸ ∑§Ê ‚ÍòÊ Á‹Áπ∞ –

•ÕflÊ
(i) ©UûÊ‹ ‹ã‚ ∑§ ‚Ê◊Ÿ F fl 2F ∑§ ◊äÿ flSÃÈ ⁄UπË „ÒU, ÃÊ ¬˝∑§Ê‡Ê Á∑§⁄UáÊ ÁøòÊ ’ŸÊ∑§⁄U

’ÃÊß∞ Á∑§ ¬˝ÁÃÁ’ê’ ∑Ò§‚Ê „UÊªÊ –
(ii) ÁŸ∑§≈U ŒÎÁc≈U-ŒÊ· ∞fl¢ ©U‚∑§ ÁŸflÊ⁄UáÊ ◊¥ ¬˝ÿÈQ§ ‹ã‚ ©U¬ÿÊª ∑§Ê Á∑§⁄UáÊ ÁøòÊ ∑§Ë ‚„UÊÿÃÊ

‚ ‚◊¤ÊÊß∞ –
(iii) ‚¢ÿÈQ§ ‚Íˇ◊Œ‡ÊË¸ ∑§Ë •Êflœ¸Ÿ ˇÊ◊ÃÊ ∑§Ê ‚ÍòÊ Á‹Áπ∞ –
(i) What is a simple microscope ? Explain its working by drawing a

ray diagram.

(ii) Drawing ray diagram explain the nature of image when the object
is put in front of concave lens.

(iii) Write the formula to determine the focal length of a lens.

1 
1
2  + 1 

1
2  + 1 = 4

OR

(i) Drawing ray diagram state the nature of image when the object is
put in front of convex lens in between F and 2 F.

(ii) Explain Myopia and the lens used for its correction with the help
of ray diagram.

(iii) Write the expression for magnifying capacity of a compound
microscope. 1 

1
2  + 1 

1
2  + 1 = 4

24. (i) ÷ÊÒÁÃ∑§ fl ⁄UÊ‚ÊÿÁŸ∑§ ¬Á⁄UflÃ¸Ÿ Á∑§‚ ∑§„UÃ „Ò¥ ?  ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –
(ii) •ÊÄ‚Ë∑§Ê⁄U∑§ ∞fl¢ •¬øÊÿ∑§ ∑§Ê ß‹Ä≈˛UÊÚÁŸ∑§ œÊ⁄UáÊÊ ‚ ‚◊¤ÊÊß∞ –
(iii) ÁŸêŸÁ‹ÁπÃ ¬˝àÿ∑§ ∑§Ê ∞∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ —

(•) ‚¢¡ÊÿŸ •Á÷Á∑˝§ÿÊ
(’) ÃÊ¬ •¬ÉÊ≈UŸ •Á÷Á∑˝§ÿÊ
(‚) ÁflSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ – 

•ÕflÊ
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(i) ÃËfl˝ fl ◊ãŒ •Á÷Á∑˝§ÿÊ∞° Á∑§‚ ∑§„UÃ „Ò¥U ? ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ –

(ii) ß‹Ä≈˛UÊÚÁŸ∑§ œÊ⁄UáÊÊ ‚ •ÊÄ‚Ë∑§⁄UáÊ ∞fl¢ •¬øÿŸ ∑§Ê ‚◊¤ÊÊß∞ –

(iii) ÁŸêŸÁ‹ÁπÃ ∑§ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ —

(•) œŸÊà◊∑§ ©Uà¬˝⁄U∑§

(’) ´§áÊÊà◊∑§ ©Uà¬˝⁄U∑§

(‚) ¡Òfl ©Uà¬˝⁄U∑§ – 

(i) What are physical and chemical changes ? Give example.

(ii) On the basis of electronic concept explain oxidising agent and

reducing agent.

(iii) Give one example of each of the following :

(a) Addition reaction

(b) Thermal decomposition

(c) Displacement reaction. 1 
1
2  + 1 + 1 

1
2  = 4

OR

(i) What are slow and fast chemical reactions ? Give example.

(ii) On the basis of electronic concept explain oxidation and

reduction.

(iii) Give examples of the following :

(a) Positive catalyst

(b) Negative catalyst

(c) Bio-catalyst. 1 
1
2  + 1 + 1 

1
2  = 4
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